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NUMBERS

-
m Number Sequence upto 10,000

The transport department on Thursday announced that 10, 000
special bus services will be operated from November 3 to 5 to
accommodate the passengers during the Diwali season.

® Of 9,967 special services, 6,367 buses will run from Chennai to ®
other districts and 3,600 will run within the districts.

Let us discuss the following questions.

What does this text talk about?

What is special about the festival?

How many of you will go o your relatives home?

How many of you would travel to other places during festivals?

What do these numbers convey us?
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"In 1st grade, you have studied number names up to 20. Now we will
learn names of larger numbers. You have already learnt the number-
names from 1 to 20 and also number-names of 30, 40, 50, 60, 70, 80,
90 and 100.

How do we name the larger numbers. Let us discuss the following
example.

Write 1283 in words.

Solution

First write the given number in expanded form and write the name
of each number below it and then combine that name.

1283 = 1000 + 200 + 80 + 3
= One Thousand + Two hundred + Eighty + Three

So the number-name of 1283 is one thousand two hundred and
eighty three.

A. Write the following number in words.
(i) 1006
(ii) 6327
(iii) 9097
(iv) 10,000
(v) 8906
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B. Werite the numeral for each of the following.

(i) Seven thousand and sixty four -

(ii) Nine thousand three hundred and forty -

(iii) Five thousand six hundred and seventy three -
(iv) Ten thousand -

(v) Four thousand three hundred and six -

C. Answer the following questions.

he has to fill up the amount in words. Could you please help
him?

(ii) Find the sum of the greatest two digit and the greatest
three digit numbers. Write the number names of that sum.

2.1.1 ODD NUMBERS and EVEN NUMBERS

Can you classify the numbers as odd and even. How?

ODD NUMBERS

The numbers ending with 1, 3,5, 7 and 9 in one's place are called odd
numbers.

1001, 1003, 1005, 1007, 1009
K2371, 4863, 5605, 3787, 1239

EVEN NUMBERS

The numbers ending with 0, 2, 4, 6, and 8 in one's place are called even
numbers.

2002, 2004, 2006, 2008, 9960 j

(i) Ramu went to a bank to deposit Rs. 7500. In the deposit form,

-

‘ ‘ 4th_Unit_02_Numbers_Term Lindd 21 @ 12121/2021 2:29:21 PM‘ ‘



B [ ® . EEEN

s

Note:

To identify whether the given number is odd or even, it is enough
to look at the digit in 'ones’ place.

Circle the odd numbers and write their names in the table given below.

4132 8841 7483
2973 1045

5667 4646

6566 3990 3132

S.No. Number Number Name
1. 8123 Eight thousand one hundred and twenty three.

1. Circle the odd numbers in the following.
9001, 8002, 7603, 6542, 4875, 3882, 3217.
2. Circle the even numbers in the following.

6231, 5920, 4812, 2121, 1234, 9528, 3946.
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r3. Choose the even numbers from the following and write the )

number and number names.

6501, 4706, 3999, 4001, 3848

Number Number Name

4. Pick out the even numbers and write their name in the table

given below.

4703, 3206, 2003, 4017, 2001

Number Number Name

2.1.1 Expanded form of a large number.

The expanded form of 534 is 500 + 30 + 4

We read this as five hundred thirty four.

Similarly,

2936 = 2000 + 900 + 30 + 6 = Two thousand nine hundred thirty six.

The digits in the expanded form of a number express the place values
of the digit.

\_ : . y,
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"In the number 5269

The place value of 5 is 5000 (five thousand)
The place value of 2 is 200 (two hundred)
The place value of 6 is 60 (sixty)

The place valued of 9 is 9 (nine)

Thus, the place value of a digit in a number is the value where it is
present in the number. If 5 is at Thousandth place in a number, its value
will be 5000, if it is at Hundredth place, its value will be 500, etc.

The face value of digit is the digit itself, at whatever place it
may be. It is unchangeable and definite. But place value changes
according to the digit's place.

Place value of a digit = Face value of the digit x value of the place

K e i \

In the number, 2745b.
Place value of 5 =5 x 1=5 ones, face value of 5 is 5.
Place value of 4 =4 x 10 = 40 = 4 tens, face value of 4 is 4.

Place value of 7 =7 x 100 = 700 = 7 hundreds, face value of 7 is 7.

\Place value of 2 =2 x 1000 = 2000 = 2 thousands; face value of 2 is Zj

1. Find the face value and place value of the digits coloured in

the given numbers.
a) 1379 b) 9876 c)5136 d) 8965

e) 2010 ) 4038

-
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2.

Complete the given table. )
Number |  Expanded Form |
i Tens place is 7
b 4000 + 200 +90 + 6 . _
i Thousandth place is 4 less
c 3000 + 300 +20+7 than 10
d 9999 iii  Hundredth place is between
e 5000 + 70 + 1 3ands
iv. One's place is 2 more than 6
f 2934 \ J

3.

Circle the correct one.

a | 5 thousands + 3hundreds + 2 ones 5320, 5302
b | The place value of 5 in 3758 50, 500

¢ Three thousand six hundred and sixty 3060, 3660
d 4000 + 600 + 90 4690, 4609

. Activity

o~ w N

Procedure:
1.

Divide the class in groups of 5.

Form a number using number cards from 1 to 9.
Write its number name.

Write its expanded form.

Write the place value of each digit.
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@ Comparing Numbers

2.2.1 Able to sequence an arbitrary array of numbers in
ascending and descending order.

Ascending order

Ascending order is arranging numbers from smallest to biggest.

@ -

4278 4875 4923 4717

Since the digits at the thousandth place are same in all the
numbers, we compare the digits at the hundredth place.

Thus, the numbers in ascending order is,
4278 < 4717 < 4875 < 4923.
\4278, 4717,4875, 4923.

Descending order
Descending order means arranging numbers from biggest to smallest.

°

5234, 6271,4234,5172, 4871

Thus, the number in descending order is,
6271 >5234 >5172 > 4871 > 4234
6271,5234, 5172, 4871, 4234.

Do You Know?

The reverse of ascending order is descending order.
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Write the following numbers in ascending order.
a) 7631, 9987, 7634, 5436, 8918

b) 4096, 3096, 3099, 2473, 3172
c) 5201, 5627, 4325, 9999, 9801

Write the following numbers in descending order.
a) 3435, 3670, 139, 3267, 6544,

b) 2785, 3605, 2782, 236, 9801.
c) 6998, 6987, 6898, 7801, 8979.

Arrange the milestones given below in both the orders.

(a) 495 ®) o (¢) 2650 (d) 1680 (e) 1420
KM KM KM KM KM

Write the strength of each class in your school. Arrange them
in ascending and descending orders.
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rz' Starting point | Destination Approximate Distance in km \
Chennai Pondicherry 132
Chennai Hyderabad 511
Chennai Kolkata 1363
Chennai Delhi 1757
Chennai Mumbai 1025
Chennai Guwahati 1891

Locate it in the map and find out feasible way to travel o all the
places.

a) Arrange the places in ascending order according to the distance.
b) Arrange the places in descending order according to the distance.

c) Choose the place which is shorter in distance from Chennai.
(i) Mumbai (ii) Guwahati (iii) Hyderabad

d) Choose the place longer in distance from Chennai.
(i) Kolkata (ii) Mumbai (i) Pondicherry

e) The place in the longest distance from Chennai is

2.2.2 Forming the smallest and the largest numbers
using given digits.

1. To write the smallest number using the given digits only once.

a) When none of the digits is zero, we arrange the digits in
ascending order and form the number.

. °® @ .
o .
® -.

° .-

The smallest 4 digit number using the digits
4,2,9and 7 is 2479
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: b) When one of the digits is zero, we arrange the digits

in ascending order and put zero at second place from
extreme left while forming the number-.
. ® o

® L "

The smallest 4 digit number using the digits
1,7,5,0 is 1057.

J

2. To write the greatest number using the given digits only once,
we arrange the digits in descending order and form the number.

The greatest 5 digit number using the
® digits 5,1,7 and 9 is 9751.

1. Form the greatest and smallest numbers using the given digits

only once.
Digits Greatest number Smallest number
a 1,4,3,7
b 5,0093
c 6,7,1,5
d| 3,209
e | 7,3,2,8
f | 4,6,02
g 9,1,4,0
- J
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r2. Circle () the smallest number and tick (v') the greatest number':\
a) 2715, 2175, 2517, 2157, 2275
b) 6238, 2386, 3862, 8623, 9378
c) 9345, 9646, 3408, 1425, 2000
d) 5931, 1370, 4000, 2000, 3000

e) 6000, 7000, 5000, 4000, 9000
f) 2468, 4279, 5090, 7906, 6270
g) 7692, 8296, 3241, 9276, 4291

|m Addition and subtraction

® R ®
~Cx 5
%
o XY
In a school, 1232 students travel by cycle, 2430 students travel by
school bus, and 1235 walk on foot to the school. How many students
are there in the school?
In a school
No. of students travel by cycle = 1232
No. of students travel by school bus = 2430(+)
No. of students coming to school on foot = 1235
Total no. of students = 4897
- _

‘ ‘ 4th_Unit_02_Numbers_Term Lindd 30 @ 12121/2021 2:29:22 PM‘ ‘



B [ ® . EEEN

1. Fill in the boxes.
i 4634 + = 4634

i 2134 +1=

i 5349 +0 =

iv 1435+ 1923 =1923 +

v 3457 + = 3458
2. Add

) Th H T O i) 5 Th H T O
3 2 5 4 2 1 3 b
@® + 1 4 2 4 + 3 4 2
(i) Th\H T O (ivy Th H T O
3 7 6 2 1 4 3 3
+ 3 1 3 7 + 4 5 5 2

3. Add: 2713 + 104 + 1172 + 6010

4. A man visited a furniture shop. He bought a bed for X 2100,
a dining table for ¥ 3500, and six chairs for ¥ 4200. How much
money did he pay to the shop keeper?

5. Create word problem for the addition facts given below.
(a) 3094 + 7923 =11,017 (b) 8309 = 2309 +
L 4

.. -
. .e
o -
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6. Create addition stories using the pictures and numbers given
below.
(a)
(b) Child birth between 2017 and 2018 are given below
District Children
Urban 1032
Trichy
Rural 2030
Urban 1205
Ariyalur
Rural 4097
® canchi Urban 2104 N
n m
anchipdra Rural 4034
Urban 1430
Chennai
Rural 1023
7. Fill in the circles using 1400, 1500, 1600,1700,1800 and 1900 so
that the three numbers along each line add up to 5000.
5000
()
/
\_ - J
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f& Fill in the box with appropriate number 1732 )
2051
?
2.3.1 Addition of four digit numbers using regrouping
- - < -
1. Add: Find the sum of 1957, 2376 and 4697
Th H T O
2 2 2
1 9 5 7
+ 2 3 7 6
4 6 9 7
9 0 3 O
® D ®
Write the missing numbers
(i) Th H T o (i) Th H T o
2 1 7 3 3 9 7 A
AN VAN VAN
+ 1 9 A 7 (+) A 7 A 1
8 3 7 4 9 2 7 6
\_ - J
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Add the following numbers.

a) 216, 3422, 4019, 497

b) 1002, 2347, 1976, 2005, 2007
c) 1978,1965, 2704, 473

. Add the total amount of the following 4 piggy banks.

g F o F o F o

|5 T s, S A S A
! - __' ! - __' ! - __' ! - __'
T T T T
ook ook ook ook

X978 3796 2374 %1957

. The sum of 1215 + 2367 + 1673 + 3120 =

a) 8585 b) 8225 c) 8375 d) 8285

. 2076 + 276 + 2974 + 1751 =

a) 9561 b) 7077 c) 7377 d) none of these

. What is the sum of five hundreds and fifteen tens?

a) 650 b) 550 c) 5150 d) 6150

. The sum of the greatest 3 digit humber and the smallest 4

digit number is

a) 1999 b) 1099 c) 1990 d) 9999

. 9999 +1=

a) 10,000 b) 1000 c¢) 1001 d) 10001

-
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8 Ina village the number of males is 4154 and the number of
females is 4221. Find the total population in the village?

9 A refrigerator costs ¥6543 and a DVD player costs 33412,
What is the total cost?

2.3.2 Subtraction without Regrouping.

When O is subtracted from a number, the difference is the
number itself.

When a number is subtracted from itself, the difference is O.

. - Subtraction without grouping
) Thn H T O Stepl: Subtract the ones
9 8 6 b5 Stet 2: Subtract the tens
@ - 2 3 3 4 Step3 : Subtract the hundreds @
7 5 3 1 Step4: Subtract the thousands
N— _

2) Roja’s monthly income is Y8950. She spends ¥6750 and saves
the rest. How much does she save?

Solution: Th H T O
Monthly income = 8 9 5 O
Amount spent = - 7 5 0
Amount saved = 2 0 O
Roja saved X2200.

1) 9 7 6 4 2) 7 9 8 6 3) 4 7 8 5

- 3 4 2 3 -4 5 2 4 - 2 4 6 2

- _ y

.. -
. .e
o -
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1. Subtract 3285 from 5657

(2.3.3 Subtraction with Regrouping.

Arrange the numbers in columns as shown below.

Step: 1
™ H T O
5 6 5 7
— 3 2 8 5
Step: 2
Subtract column wise.
@ ™ H T O
5 15
5 & b 7
— 3 2 8 5
2 3 7 2

Step 1: It is not possible to
subtract 8 tens from 5 tens.
So, borrow 1 hundred from the
hundreds column.

Step 2: 6 hundreds =5
hundreds + 1 hundred. Transfer
1 hundred to the tens place.

1 hundred = 10 tens. So,

10 tens + 5 tens = 15 tens.

Step 3: Now subtract 2
hundreds from 5 hundreds.

Step 4: Then 3 thousand
from 5 thousand.

5657 — 3285 = 2372

other number.

Solution:

One number = 1207

Sum of two number = 4204

\ Other number = 2997

2. The sum of two numbers is 4204,0ne number is 1207. Find the

Th H T O

11 19 14

3
A Z g
1 2 0
2 9 9

\_
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Exercise 2.3c

A. Subtract
1. TH H T O 2 TH H T
4 4 5 4 9 6
- 1 3 4 8 - 2 4 4
3 TH H T O 4 TH H T O
6 5 7 O 8 9 5 3
- 3 3 9 7 - 5 9 6 4

B. Find the difference between given numbers.

a) 4352 and 5020 c) 2526 and 8431
b) 1438 and 3370 d) 3361 and 9000

C. Answer the following questions.
1. The sum of two numbers is 7036, one number is 3168.
Find the other number.

2. A man had Rs 9200 in the bank. He withdrew Rs 2756. How
much money does he have in the bank now?

D. Create the subtraction story problems for the details given
below.

a) 1997 - 1968

b)
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